IEHERER

[EXRERFORBRIINIERFEELZABEMERTE (B2 XM ]

THERS - THE - 1851 - #5) 8 #® B oy EBREHE R E i B
+T T s % 11 | 8 NyoEkY m3 748.9 750 |X%15m93% A
Janikivi: ]l 2] m3 852.7 850 [XIBMiA
BtT BRER m3 525.2 530
iz:47 e Y E=15d m3 643.5 600
ik, 24K ) m3 10,627.3 10, 600
iR T *—J iEHI T8 NvHEkY m3 4,926.5 4,900 |XIBARA
iz:47 e Y =1z m3 4,926.5 4,900
EEERT Y LEEER m2 610.2 610
Bt AEER m2 2,664.8 2,660 |1737.0+927. 8=2664. 8
SEET EET wEZY b m2 610.2 610
EE— b m2 1,737.0 1,740
ELWRA t=2cm m2 927.8 930
R T fEELT BRI m3 678.7 680 |x15P9i% A
HEEE m3 309.8 310
BER m3 38.3 40
T (C-40) 198,313
WETET SATRREA VAR LE = 1.0 1 | @At - R 225 4m2
ATV 1438, 2m2
B B ¢ 150 69. Im
|t ERR T fEELT BRI m3 109.3 110 |53k A
HEEE m2 67.7 70
BER m3 61.0 60
7 VHAMIN b T | TLEXR FRYIR B900 x H1300 m 22.7 23
PC3L Yo 12.7m 83. 4m
PCEAM - EESE = 1.0 1 |E#EE 244y
KT HEk g B1400-L1400-H2000 | #Ff 1.0 1
SEADT B1200-H500-1.2000 m 2.0 2
ERT E3EIY)-h t=15cm m2 113.0 113
Un#E B 3t +=10mm m2 1.9 2
HET WA T =6. 5cm m2 576. 1 576
RE m2 115.2 115
HEKHEEYT fEELT BRI m3 48.2 50 [XIBMFEMA
BR m3 17.1 20
BT £7Y1-h F$300 m 188.5 189
#7Y1-h FS500 m 39.6 40
TLEX R PU5 (37%)
URIfa)% 300A m 8.7 9
]
HAt-ABIE B500-H600 m 111.3 111
KEI7Ya-k 500 x 600 m 22.5 23
aNF—kTYa—L 500 x 500 m 31.5 32
LESR)E PL250A m 18.8 19
TLEvRbRYHR 900 x 900 m 24.4 24
PCsL Yo 12.7m 91, Tm
PCEAH - EESE = 1.0 1 |E#EE 244y
HAMT 155Kkt B500-L500-H700 ;i 4.0 4 |EAMEST
355kt B700-L700-H900 i 3.0 3 |EkpEST
oKt B1400-L1400-H1800 | #AFf 1.0 1 [SEKMEEL
TFHEAT BEEHEK 150 m 31.7 32
3300 m 39.0 39
INERHERT 2 SINEEHIKT m 41.7 42
NERHERT BD1 m 164.8 165
INERHERT D1 m 32.8 33
K B240 m 33.4 33
HARE
|EEch TRITMMERET i3 M-30 _t=10cm m2 480.0 480
BABRERN-}
*E 72270 _t=dem m2 180.0 180
BEITINTY
h)-MERET i3 RC-40 _t=15cm m2 31.5 38
Y-+
*E t=15cm m2 31.5 38
YEIA—S—LAT| EIA—S—LA t=3cm m2 1,507.0 1,507
BB m3 45.2 45
ne L=5. 02km m3 106.2 106
HEYIRELT  EmERELT A—EL—iE Gr-C-4E m 15.0 15
BIG A SiB L=5. 28km B 1.0 1
ne SEER 19. 4ke/m t 0.291 0.3
fREET BRI BRI BB EHBLL x 98.0 98
EEXR LD S
18 - R ABEDS B - BE &% 105.0 105
Ry THE - & = 1.0 1 |#ESrsH/k108 AR
SEBIET 5 LH B At £=10mm m2 95.9 96
BrEEXSET B4 viEpEE HEEY b s 1.0 1
ZEFHE ZEEHEB ZREAH AR 110.0 110
HBRERE i R x 940.0 940
I ARHGA t 192.0 192
HAER L=12. 5km ZEn3 351.0 351
0% t 192 192




